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7LQJJLQ\D�SHUPLQWDDQ�NRVPHWLN�KDODO�VDDW�LQL�PHQMDGLNDQ�,QGXVWUL�NRVPHWLN�
KDUXV�PHPSHUKDWLNDQ�VHWLDS�DNWLYLWDV�ELVQLV�GHQJDQ�GDPSDN�WHUKDGDS�NDQGXQJDQ�
KDODO�\DQJ�WHUGDSDW�SDGD�NRVPHWLN��KDO�LQL�GDSDW�GLODNXNDQ�GHQJDQ�DNWLYLWDV�ELVQLV�
\DQJ� GLNHOROD� GDQ� GLPRQLWRULQJ� � GHQJDQ� EDLN�� 0RQLWRULQJ� DNWLYLWDV� ELVQLV� LQL�
GLODNXNDQ� GHQJDQ� NRQVHS� KDODO� SURFXUHPHQW�� 7XMXDQ� \DQJ� DNDQ� GLFDSDL� GDUL�
SHQHUDSDQ� NRQVHS� LQL� DGDODK� VHEXDK� DSOLNDVL� XQWXN�PHPSHUWLPEDQJNDQ� GDPSDN�
KDODO�NDQGXQJDQ�\DQJ�DGD�GDODP�EDKDQ�NRVPHWLN�XQWXN�SURVHV�SHQJDGDDQ�EDKDQ�
EDNX�GDUL�YHQGRU SDGD &9��6NLQ�6ROXWLRQ�%HDXW\�&DUH�,QGRQHVLD��

&9�� 6NLQ� 6ROXWLRQ� %HDXW\� &DUH� ,QGRQHVLD�PHQJDODPL� EHEHUDSD�PDVDODK�
VHSHUWL� SDGD�PDQDMHPHQ� SURVHV� SURFXUHPHQW� \DLWX� SURVHV� SHPEHOLDQ� GDQ� SURVHV�
SHUVHGLDDQ�GLPDQD�PDVLK�DGDQ\D�NHVXOLWDQ�XQWXN�PHQFDUL�YHQGRU PHPLOLNL�VXUDW�
L]LQ�PHQMXDO�EDKDQ�EDNX�KDODO�DJDU�GDSDW�PHPHQXKL�SHUV\DUDWDQ�NHWHQWXDQ�KDODO�
GDQ�EDKDQ�EDNX�\DQJ�GLMXDO�PHPLOLNL�VHUWLILNDW�KDODO��SHPEHOLDQ�EDKDQ�EDNX�GDQ�
EDKDQ�NHPDV�GLODNXNDQ� VHFDUD� LQGHQW�ROHK�YHQGRU�� GDQ�EDKDQ�EDNX� \DQJ�GDWDQJ�
WLGDN�VHVXDL�GHQJDQ�MXPODK�EDKDQ�EDNX�\DQJ�GLSHVDQ��%HOXP�WHULQWHJUDVL�GHQJDQ�
EDJLDQ�SHPEHOLDQ�VHKLQJJD�PHQ\HEDENDQ�SHQ\DPSDLDQ�LQIRUPDVL�GDQ�SHUWXNDUDQ�
GDWD�PDWHULDO�WLGDN�VHFDUD�UHDO�WLPH��3HQHOLWLDQ�LQL�EHUIRNXV�SDGD�VLVWHP�(53�KDODO�
SURVHV�SURFXUHPHQW�PHQJJXQDNDQ�2GRR�GHQJDQ�PHWRGH�$6$3��6LVWHP�(53�KDODO�
SURVHVV�SURFXUHPHQW�LQL�DNDQ�WHULQWHJUDVL�GHQJDQ�SURVHV�KDODO�SURGXFWLRQ�GDQ�KDODO�
VDOHV�	�GLVWULEXWLRQ���

'HQJDQ�GLNHPEDQJNDQQ\D� VLVWHP�(53�KDODO�SURFXUHPHQW EHUEDVLV�2GRR�
PRGXO�3XUFKDVH GDQ�,QYHQWRU\�0DQDJHPHQW��2XWSXW�\DQJ�QDQWL�GLKDVLONDQ�EHUXSD�
UHSRUW�\DQJ�GDSDW�GLJXQDNDQ�VHEDJDL�DFXDQ�GDODP�SHQJDPELODQ�NHSXWXVDQ�GDODP�
PHODNXNDQ�SHPLOLKDQ�EDKDQ�DSD�VDMD�\DQJ�WHUPDVXN�GDODP�NDWHJRUL�KDODO�GDQ�MXJD�
GDSDW�PHODNXNDQ�SHPLOLKDQ�YHQGRU \DQJ��OD\DN�DWDX�WLGDN�OD\DN�XQWXN�PHODNXNDQ�
SHQJDGDDQ�EDUDQJ�VHVXDL�GHQJDQ�VWDQGDU�KDODO�

.DWD� NXQFL� �� (53��+DODO� 3URFXUHPHQW��2GRR��3XUFKDVH 0DQDJHPHQW�� ,QYHQWRU\�
0DQDJHPHQW��$6$3�


